(Sheets6 SUBTRACTION PROBLEMS 3

Fill in the boxes.

12 sweets

3 are eaten

sweets left

19 people on a bus

7 get off

| lpeople on the bus
©

40 cards in a packet

30 are used

cards left

Dad is 33.

Mum is 4 year younger.

Mum is

Barry has £81.

Larry has £38 less.
Larry has £{

A bottle holds 1000 ml of milk.

300 ml is used.

f } mi is left.

16 balls in a box

11 are taken out

balls in the box

28 children in a class

10 have a packed lunch

f do not have a packed lunch

A drink costs 65p

Errol pays £1.

He is given p change

Amy’s book has 84 pages.

She has read 50.

She has! pages left.

A school has 311 pupils.

80 are on a trip to a museum.

There are pupils in school.

245 seats in a cinema

7 are empty

e

l’ lseats are taken.
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